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Phép nhan cac da thuc

Tén:

(6x+ 2)(9x + 8)

(5x— 7)(8x—3)

(62 + Tx+ T)(x — 8)

(3— 77 (5x—2)

(9x + 1)(2x* +3x + 3)

Ngay thang:

(7+ 4x)(3x—5)

(5% + 5x + 5)(8x — 6)

(Gx+ 7)(* — 8x— 8)

(Tx — 2)(6x% + 2x + 2)

(4x* — 1)(5x + 1)
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Piém:
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I e Phép nhin céc da thitc
Tén: Ngay thang: Piém:
(6x + 2)(9x + 8) (7+ 4x)(3x—5)

54x% + 66x + 16

(5x—7)(8—3)
40x” — T1x+21

(6x2 + Tx + 7)(x — 8)
6> — 41x% — 49x — 56

(3— 7 (5x - 2)
—35%° + 14x% + 15x— 6

(9x + 1)(2%% + 3x + 3)
18%° + 2952 + 30x + 3

122 + x— 35

(5x% + 5x+ 5)(8x — 6)
40x° + 10x% + 10x — 30

(B3x+ 7)(x*> — 8x— 8)
3x° — 17x% — 80x — 56

(7x — 2)(6x° + 2x + 2)
D%+ 2% +10x— 4

4% — D(5x+ 1)
20x° + 4% — 5x— 1
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